E 0 & AFHE®E B M A

SA OHEBR
g

!
HE: UL L S 25
el OIEE CABY E4 (B9 ®R)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
ot zte| 7,707,585 7,490,661 216,924
= 1,502,895 1,500,000 2,895
Al 1,319,145 1,211,995 107,150
- 4,885,545 4,778,666 106,879
Moy 2 ey 235 4,556,417 4,422,016 134,401
= 1,502,895 1,500,000 2,895
Al 1,143,045 1,035,895 107,150
- 1,910,477 1,886, 121 24,356
QHMEH STAIEE =4 4,556,417 4,422,016 134,401
= 1,502,895 1,500,000 2,895
Al 1,143,045 1,035,895 107,150
- 1,910,477 1,886, 121 24,356
WS HHE L iyl 65,775 67,535 A1,760
207 RO 20,240 22,000 A 1,760
01 A7 39 20,240 22,000 A 1,760
O Jlses4disE =8 23 20,240,000 20,240 22,000 A 1,760
WHUHS =88 (EXAY) 5,790 2,895 2,895
= 2,895 0 2,895
Al 2,895 2,895 0
201 £B-2dH| 5,790 2,895 2,895
= 2,895 0 2,895
Al 2,895 2,895 0
01 At 22l 5,790 2,895 2,895
O MHE HMet=2=d 2 & 5,790,000 5,790 2,895 2,895
= 2,895 0 2,895
Al 2,895 2,895 0
HHAMEE AIZEH 29 2 2tel 122,311 112,311 10,000
201 L2l 102,931 92,931 10,000
01 At 22l 10,000 0 10,000
O XN& - NAMHY UIA EXE FE
1,000,000 * 1074 & 10,000 0 10,000
Zgac HE(2XAY) 101,150 0 101,150
Al 101,150 0 101,150
201 ¢er24| 101,150 0 101,150
Al 101,150 0 101,150
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O Zgue 23 78 ¥ sE28 72 25,000 0 25,000
Al 25,000 0 25,000
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Al 6,950 0 6,950
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Al 7,000 0 7,000
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Al 6,000 0 6,000
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Al 6,000 0 6,000
01 ML 2EFSY 6,000 0 6,000
O 2=Y%aH 2 P 6,000 0 6,000
Al 6,000 0 6,000
D29 2SS sHa B BE 662,266 646, 150 16,116
101 Q1A H 16,116 0 16,116
04 JI2ZH2R2UEE 2 16,116 0 16,116
O 2219 SEHS Y oA
2,686,000 * 3% * 2% 16,116 0 16,116
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Al 16,100 16,100 0
= 1,059,104 1,034,604 24,500
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—ZHHIER SSNH 4,500,000 * 1CH 4,500 0 4,500
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01 AR 35,000 22,000 13,000
O ZHMHMY EZHSY M 13,000 0 13,000
401 Al HI 2 200 133,000 100,000 33,000
01 Al&HI 133,000 100,000 33,000
O saiggae A e ZFE 133,000,000 133,000 100,000 33,000
C2A4 otEze 1,304,001 1,304,751 AT50
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